SH 20158 FSMSHAH|IEAL

AR §32)2 A 58 212 20159 SLYIILA dok SESSIL, 159 S
BRAE AR s me AL %i—‘é— = BRHL0000E AT HE 55
oA AR ZAEA (~4.7%), S-5H-4.2%), HISE(2.3%), ATH1.2%), 5-3(-0.4%)3Hch,

154 SAHE el AJAke] Zhaet & NEJWE*4@%£%€EW7PWﬂf“ﬂﬂﬂ%%
2 ARt S71s 9 o 52 AN Tljrb st ol 718t L%EE} A5kl Al
T 159 v oo ARt AR7HA 9 AAkEF st o s AR 17849 TAagt 2,363
159 SA vhelg o4 4%%&ﬂﬁdﬂo&ﬂdiq4%%¢ﬁﬂmﬂ022%ﬂn%Z%V
72 2015, 1. 1~2015, 12, 31, 197F RAF 8190w 7M5ARS - 1Y 2 SAR(S - F4ke) s
ol et AR}, 7FEARS O B Rl AbRY] - oFEH] - EFER] T A, A 2 AR
A Y sy Tyl WE AR, EA] - 2AE - tlstoll thet AHEBE7FY E A7 dzbe] Fol
ZALE| QAT AFEA 1435 7), S 1218717t ZAbol| Zrofatar Bok AA|gE ARl 5A1% S5o]
R|(www.kostat.go. kr)ol A EHl 753}t

H 1 SME M| S8
™= "15(A) "14(B) i
S2(A-B) SUB%)

5 zEHl | sl | EeEel | wawl |zl | el |zl |
SOIX|(=a/ok2) 2,096 3,236 2,103 3,240 =7 -4 | -0.3 -0.1
SHRH|S2(Z24/100kg) 808 943 788 925 20 18 2.5 2.0
T R(E/100kg) 530 633 527 635 3 -2 0.5 -0.4
f =@N0) 639 763 667 796 -28 =34 | 4.2 4.2
HIS-=(Z2/100kg) 258 270 265 276 =7 -6 | -2.8 -2.3
A ZHE/107H) 997 1,051 1,006 1,064 -9 -13 | -0.9 -1.2
S ARk 1,214 1,278 1,278 1,340 —64 —-63 | 5.0 -4.7
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(&0, eRHIF:

()

2,82 HEE

4,000 2,000
S0 (ot2)) 0
3,000 1,500
2,000 1,000
1,000 500
0 =0
20094 20104 2014 20124 20139 20144 20154
(=% 1) 22 742 @i 30|
B2 ZME oY 38
= 15 14 &0 TACH|
=3¢ &Y L5 &2 | Y | AS | &Y el SUE
SIPHAIR(HR/0f2) 2,162 628 -192 1,801 241 —-585 394 -
StRHIS (T E/0t2]) 7,183 | 1,296 316 | 6,414 688 | -293 608 -
= S(Tg/ot2)) 4,374 536 207 3,515 =310 | -1,092 885 -
A (M E/0t2]) 10,057 | 3,944 2,809 9,730 | 3,580 | 2,422 386 15.9
H | =(M#/ok2) 404 111 97 398 97 84 13 15.0
AF 2 A(FE/or2]) 32,812 | 3,896 2,363 | 35,603 | 5,818 | 4,147 | -1,784 | -43.0
= Al(&/ar2]) 1,910 159 67 2,058 203 112 —45 —40.5
CHAR BB, 89, H2, HISE) S, A=A
(el @)
3,000 6,000
2,000 4,000
1,000 2,000
01 o]
-1,000 1 -2,000
-2,000 [ -4,000
-3,000 - -6,000

(=¥ 2) 22 7492 &2

2009

20134 20144

20154
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m 72 MAHI(10070 &)

rn
40
Iy

AL S 2 8(15)

o
N

U

(%)

. 14 | 13 ==
T 2 |20,000 20,000~ 30,000~ 40,000 Z |l | @ | ab | ae
ol2lojet| 29,999 | 39,999 | o0l | (@ | (%)

O = 8l | 2667| 2266 2243 1961| 2,045 189 2,148 2029 -48| 08
OA 2 8l | 6650| 6,073 6,256 6490| 6511| 60.2| 6471 7,597 0.6|-14.3
o 4zmEH | 120 89 97| 107| 107 10| 105 92| 19| 16.3
owelxlzsl | 158| 133|124 137 138| 13| 131| 110| 53| 255
O Xt ] 76 36 46 19 24| 02 29 —l-172| -
o5 T d| 502 440 439 380| 396| 3.7 448 460 -11.6|-13.9
O gsAlMH |  272| 188|182 118| 135, 12| 127| 151 6.3|-10.6
o JlEtR=H| | 341 318|  3s50| 276| 288| 27| 312 323| -7.7|-108
O XIUZORE| 105 51 93| 144| 135| 12| 134 129 07| 47
0 EXYiiz 19 16 24 0 3 00 5 3/-40.0 0.0
O m/LSH| | 251 217| 458 328| 329| 30| 352 335 -65| -1.8
o 2wl | 107 110|165 43| 57| 05 56 61| 18| -6.6
O AAkEIRH| 58 67 29 44| 45| 0.4 37 32| 21.6| 406
0 7[EHIZ 41 28 23 60| 55| 05 43 40| 27.9| 375
A @ | 11,367 10,032| 10,529 10,107| 10,268| 95.0| 10,398 | 11,362| -1.3| -9.6
Xpok=SH| | 1,865, 1,009| 507| 299| 432| 4.0| 444| 509| -2.7| -15.1
A= go| 123 97 84 771 82 08| 107| 202|-23.4| -59.4
X 60 39 37 29/ 32| 03 31 29| 32| 103
& A ®) | 13,415 11,177| 11,157| 10,512 | 10,814 | 100.0| 10,980 | 12,102| -1.5|-10.6
BAZAQC) | 351 213| 321 301| 308 343| 273/ -11.7| 11.0
A G H(A-0)| 11,016 9,819 10,208| 9,806 | 9,965 10,055 | 11,089 | —0.9| —10.1
M A HIB-C) | 13,064 | 10,964| 10,836 | 10,211 10,511 10,637 | 11,829| —1.2| —11.1
Aztuaion | 25| 282|275  286| 282 287 281| —2.0| 04

F) 14ERE RIS MEC13E7K] S0 Z8Y)
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m AR AbsH|(Or2] F)

(Et90: 2

AL & 7 2 H('15) 14 '3 SUE%)
T = ~ = T | A
ot | oo | oreen || e | TS| ® | @ | an | ae
O7b &£ H 7,056 | 6,381 6,168 5,603| 5,759| 189| 6,173| 5,697| -6.7 1.1
OAb & H| | 17,598| 17,106 | 17,207 | 18,540| 18,334 | 60.2| 18,593 | 20,079| -1.4| -8.7
O A AH| 318 251 266 305 301 1.0 302 242| -03| 244
O HHR|=H| 419 375 341 391 389 1.3 377 290 3.2 34.1
O At& AtH| 202 101 125 54 69 0.2 84 - -17.9 -
os T 1,329 1,238 1,207 1,086 1,114 3.7| 1285 1,215|-133| -83
O FzAlg| 719 527 500 336 378 1.2 363 398 41 -5.0
O 7IEtRl=H| 902 897 962 788 811 2.7 896 854 95| 50
O RiiZ0Ixt 277 142 256 411 381 1.3 385 342 1| 114
O EX|Y=E 50 46 66 0 9| 0.0 14 9| -35.7 0.0
O IZL-3H| 665 611 1,258 938 927 3.0 1,012 885| -8.4 4.7
O e[| 282 310 454 121 160 0.5 159 162 06| -1.2
O afH| 153 188 80 126 128 0.4 108 84| 185| 524
O 7|EtH| & 110 78 64 171 156 0.5 124 105| 25.8| 48.6
e 30,080 | 28,251 | 28,954 | 28,870| 28,916| 95.0| 29,875| 30,362| -3.2| -4.8
A7t SH| 4935 2,843 1,394 854 | 1,215 40| 1,275 1,819| -4.7| -33.2
A28 9| 325 273 232 220 229 0.8 306 608 | -25.2 | -62.3
EXIEHH| 160 110 102 82 89| 0.3 90 82| -1.1 8.5
g Al 35,500 | 31,477 | 30,682 | 30,026 | 30,449 | 100.0 | 31,546 | 32,871 | -3.5| —7.4
F) M4ERE XSKH AAE(C13E7IX| sl ZE)
m AR =old(0r2]g) (2 2
AL g 71 2 8H(15) 14 13 SLE(%)
T =2 ~ ~ o3
oile | 29,090 | 36,000 | wdbly | @ | O | @ |l | ek
oE+2 A 31,770 31,707 | 31,106| 33,077| 32,812| 35,693| 32,557| -8.1 0.8
— 7| 2t Ty 30,121 | 30,740| 30,050| 32,078 | 31,774| 34,573| 31,679| -8.1 0.3
- RiEed 929 600 882 861 854 985 765| -13.3| 116
- 7 HI ol 102 55 85 62 65 75 93| -13.3| —30.1
- HI Rl 285 258 434 330 331 375 390 | -11.7| -151
ill1|71|l_.i i 542 287 363 469 458 535 282 | -14.4| 624
- 7|ElR 720 367 174 138 184 135 112 36.3| 64.3
OYHH| (B ) 30,080 | 28,251 | 28,954 | 28,870| 28,916| 29,875| 30,362| -3.2| -4.8
OAREH| (C) 35,500 | 31,477| 30,682| 30,026 | 30,449 | 31,546| 32,871 -35| -74
oA = (A-B) 1,690| 3,456| 2,152 4,207| 3,896 5,818 2,195| -33.0| 775
o&42! (A-C) -3,730 230 424 3,051 2,363 4,147 -314| -43.0 -

7ot 2016, 785 213



m 27 4iH|(10kg &)

AL g 7 2 E('15)

T 2 |30,000 | 30,000~ | 40,000~ | 50,000 | - | A (1,;)1 (15 alb | afc
of2|o2k | 39,999 | 49,999 | Oizloj& | (a) (%)

o7t & d | 3003 2803 2825| 2592| 2,668 20.8| 2,667 | 2,844| 00| -6.2
OA = Hl | 7,985| 7,735 7,304| 7,393| 7,439| 58.1| 7,921| 8,345 —6.1|-10.9
O $=ZH| 551 554 462|  465| 479 37| 589 594|-18.7| -19.4
O gieix|2H| 336 319 298| 316 314| 25, 329| 316 -4.6| -06
O X5 AHH| 66 56 37 45 46| 0.4 33 - 39.4 -
o5 T 404 317 33| 271| 293| 23| 310 340| -55| -13.8
O HisAlAH| 353 319 295| 321| 319| 25, 315 317| 13| 06
O 7[EtRHH| 280 228 189| 224| 223 1.7| 227| 248 -1.8|-10.1
O xtIZ0Ixt 100 43 64 92 83| 0.6 75 81| 107 25
0 EX[YUxtR 25 6 27 10 13| 0.1 12 9| 83| 444
0 TE-SH| 225 142 14| 144 145 11| 177 172|-18.1|-15.7
0 Exa|H| 31 63 22 35 3| 03 37 33| -2.7| 9.1
O AArzalu| 77 62 33 28 36| 03 34 26| 59| 385
O 7|EtH 8 50 68 65 75 71| 06 75 78| -5.3| -9.0
A A |13,486| 12,715| 12,071 | 12,011 | 12,165 95.0|12,801 |13,403| -5.0| -9.2
A7 he S| 836 570 600| 557 582| 45| 555| 527| 49| 104
XH2gH| 52 51 50 49 50| 0.4 64 78| -21.9| -35.9
EX[2%H]| 8 7 6 8 7] 0.1 6 5/ 16.7| 40.0
g 7B | 14,382 13,343| 12,727 | 12,625 | 12,804 | 100.0 | 13,426 | 14,013| -4.6| -8.6
2AZ42/(C) 34 24 26 27 27 23 18| 17.4] 50.0
AHHIA-C) | 13,452 | 12,691 | 12,045| 11,984 | 12,138 12,778 /13,385| 5.0 -9.3
MAMIB-C) | 14,348 | 13,319 12,701 | 12,598 12,777 13,403 13,995 | -4.7| -8.7
TAIRISKg) | 1.51 152  1.42| 1.42| 1.44 1.45| 1.45| -0.7| -0.7

F) 48R RIS AMEC13E7IK] S0l Z8Y)
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m 87| Al=H|(10012] &)

(9] 8)

AL 7 2 E('15) 14 3 S2UE(%)
™ £ 130,000 30,000~ 40,000~ (50,000 | @ | Al () © | ab | ae
Of2lojet | 39,999 | 49,999 |ORRI0IA | (a) | (%)
o7t = Hl | 4534| 47261| 4011| 3681| 3842| 208| 35868 4,124 -0.7| 6.8
OAb 2 b | 12,057| 11,757 | 10,371 | 10,497 | 10,712| 581 | 11,485 12,100 —6.7|-11.5
0 S| 832 842 656| 660 690| 3.7| 853| 861|-19.1|-19.9
O Htodx|ZH| 508 485 423| 448|452 25| 477|459 52| -15
O Xt = xtH| 100 84 52 64 66| 0.4 47 - 404 -
o5 T 610 481 478| 386| 423| 2.3| 449| 493| -5.8|-14.2
O FsA|AH| 531 486 419|  456| 459| 25| 457| 459| 04| 0.0
O 7[EfHZH] 423 346 268| 318| 321| 1.7| 329| 360| -2.4|-10.8
O xfZ0x} 151 65 91 131 120| 07| 108| 117| 111| 28
0 EX|Uxt= 38 8 39 14 18| 0.1 17 13| 59| 385
0 nELEH| 339 216 162| 204| 208| 1.1 256| 249 -18.8| -16.5
0 EzlH] 47 95 31 49 51| 0.3 54 48| 56| 6.3
O MARRI|H] 117 94 46 40 51| 0.3 49 38| 41| 342
O 7|EfH 8 75 104 92| 106| 102| 06| 109| 114| -6.4|-105
A A | 20362] 19,324| 17,139| 17,054 | 17,515| 95.0| 18,558 | 19,435| 56| -9.9
A7HcEH | 1,262 867 851 791 838| 45| 805 719 41| 166
PNEEET 79 77 71 70 71 04 92| 115|-22.8|-383
EX|ZH| 13 10 8 11 10| 0.1 9 8| 11.1] 25.0
g A | 21,716| 20,278| 18,069 | 17,926 | 18,434 100.0 | 19,464 | 20,277 | -5.3| -9.1
) 4ASE] KSR A (13ADIK] STH(0f )
B =7 $ld(0o) (5o - 20
A S HE('15) , , =2 (%)
g 14 13
= £ | 30,000 | 30,000~ | 40,000~ | 50,000 | = Z (b) © ab | arc
of2lojet | 39,999 | 49,999 | oiZlold | (a)

0Z42 (A 22.495| 21.412| 19,893 | 18,277] 19,100 20,584 | 20,.887| -7.2| -86
-gAm | 22,063| 21,047| 19,509 18,011 18,796 20,158 | 20,674| -6.8| -9.1
- BAEA0] 52 37 36 38 39 33 26| 18.2] 50.0
- TH| Ty 52 37 35 37 38 33 26| 15.2| 46.2
— 7|EHQ 380 328 348 228 265| 393 187| -32.6| 41.7
oYtH| (B) 20,362 | 19,324| 17,139| 17,054| 17,515| 18,558| 19,435| -5.6| -9.9
OARRHI (C) | 21,716| 20,278| 18,069| 17,926 | 18,434 | 19,464 | 20.277| -5.3| -9.1
oA S(A-B) | 2,133| 2,088| 2,754| 1,223| 1,585 2,026| 1,452| -21.8 9.2
02421 (A-C) 779 1134 1,824 351 666| 1,120| 610| -40.5 9.2
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